Home Problem 1.49. Giv example fn on-Hausdorff topological spa
Class Problem 1.50. Prove Th t the Cartesian pro d ct of Hausdorff spac a Hausdorff space.
Home Problem 1.51. Prove that in any quls(lorff space each point is a closed set.
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Class Problem 1.53. Verify that any metric space is normal.
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Class Problem 1.73. A cartesian product of compact spaces is compact.
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Class Problem 2.4. Find an example of a manifold and two non-compatible smooth structures
on it, i.e., two smooth atlases (Ui, ;) and (Vj, ;) such that {(U;, ¢;), (Vi, 1)} is not a
smooth atlas.

Class Problem 2.5. Prove that the sphere 5" and the projective space RP" are smooth mani-
folds.

’Ra. as q",'ap.s?ac.e- ) RA.

: L%y U=R"
M}P’)\ %::(AR/' k )\e) \( V: 'R'l 3
V= R‘L K.j_ (-QZ -t >t

J ‘E}
w \,gﬂ'@ﬂ Ccﬂf(A =0 .> U,) qfq«

XeS



ORI AICITRI
= (\8?) (\3'\)..)‘3\)‘,, j;"&\i‘ . 1"]5.’ )

3\‘))' ,é”"‘) —

— (34>..)51-4)5;“). ,53_4
o 35y gm) e

57- . ’%'?L r
W‘“Jm BVPER:
/ \/ US:S \é M

L&@(’N Eﬁgf

U, NV, —> RN\ 0 1
) > =
' L'O f

C & Z
=Y






